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To convert kg to g multiply by 1000.

To convert g to kg divide by 1000.

Convert the following unit into g to kg and kg to g.

a. 8 kg = g i. 6000 g = kg

b. 20 kg = g J.2535g=__kg___ g
c. 12 kg 56 g = g||k.4007g=__ kg ¢
d.10kg 6 g = g |[-8019g=__kg g
e.8kg265¢g-= g m. 9009 g = kg g
f. 5kg 475 g = g(n.1001g=__ kg g
g.9kg 85¢g-= g ||0.5222g=__ _kg___ g
h.1kg20g-= g ||p.-3333g=__kg. g

Worksheets for primary students are available.
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UNIT CONVERSION

To convert kg to g multiply by 1000.

To convert g to kg divide by 1000.

Convert the following unit into g to kg and kg to g.

a. 8 kg = 8000 g

b. 20 kg = 20000g

c. 12 kg 56 g =_12056 g

d. 10 kg 6 g =_ 10006 g
e. 8 kg 265 g =_8265¢g

f. 5 kg 475 g = 5475 g

g.9k9859= 90859

h.1kg 20 g=1020g

i. 6000 g = 6 kg

J.2535g=2 kg535g

k.4007g=ikg 7

.8019g=_8 kg 19 g

m.9009g=9 kg 9 g
n. 1001 g = 1 kg_1
0. 5222 g =_5 kg 222g

p. 3333 g =3 kg333g¢g

Worksheets for primary students are available.
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